N = 0l & At & Ml A

20198 & =0l & LBHSIH ATt AR A
AN dot=SAFE A
My Nz
Sl BOUAXYALTO HHE B3 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AotrS ALE A 28,762,685 19,381,943 9,380,742
= 5,593,000
s 3,830,000
= 401,000
s 18,938,685
ab 2t 6,117,796 6,436,520 N318,724
s 3,830,000
= 36,000
[ia 2,251,796
AL ST AHEA ZZ 4,987,000 5,172,000 185,000
s 3,490,000
[ia 1,497,000
sHEMEESHL(SH - HREXF) 1,286,000 1,429,000 A 143,000
s 900,000
[ia 386,000
401 AIEHI L 201 1,286,000 1,429,000 A 143,000
s 900,000
[ia 386,000
01 A& Bl 1,281,000 1,424,000 A 143,000
Osol . AFKF N&a=E ALY 1,281,000
s 900,000
e 381,000
03 Al 2 THHI 5,000 5,000 0
O . ARK T N+ SEHAY 5,000
SHEMEBESNL (IR F) 2,000,000 1,429,000 571,000
s 1,400,000
[ia 600,000
401 AIEHI L 20 2,000,000 1,429,000 571,000
as 1,400,000
s 600,000
01 A& HI 1,995,000 1,424,000 571,000
OUJt - O X 7 K Yat=E SEAY 1,995,000
s 1,400,000
s 595,000
03 Al 2 THHI 5,000 5,000 0
OOt - OrL X7 XIgaxE SEAY 5,000
SHEMBESINLS (ZFHIF) 786,000 900,000 A 114,000
as 550,000
e 236,000
401 Al HIZ 2018 786,000 900,000 A 114,000
s 550,000
i 236,000
01 A& HI 786,000 900,000 A 114,000
OFEXF NLax=E SHIAY 786,000
s 550,000
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s 340,000
s 146,000
401 Al HI R 201 I 486,000 714,000 A 228,000
s 340,000
s 146,000
01 A& HI 486,000 714,000 A 228,000
OMNEXF XNga==Z 2HTAS 486,000
s 340,000
[ia 146,000
HEMEEFHLE(HAXIF) 429,000 0 429,000
s 300,000
i 129,000
401 Al HIZ 2018 429,000 0 429,000
s 300,000
e 129,000
01 A& HI 429,000 0 429,000
OO0 F NEax=r SHIAY 429,000
s 300,000
s 129,000
EXNCG0sa4sE F3H B35 1,130,796 1,264,520 N 133,724
s 340,000
< 36,000
s 754,796
L2AZFCAE 29 120,796 154,520 A33,724
201 Let2d] 115,722 148,735 A 33,013
01 At 22l 115,722 148,735 A 33,013
O ==& & AtHl 115,722
OXlst==2a=ZAH (111 ES)
75,8003 » 1864 2 14,099
OAHB2 = AHI(6HES)
30,7003 »220H 2 +23] 1,351
OAHB2 = AHI(IHES)
217,000 »220H 2 4,774
Olt24 =S Z A (581 & =)
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206 M= Hl 5,074 5,785 AT
01 M= 4l 5,074 5,785 AT
ODISM+ELTANE SRHLE R
170,000 202 A 3,400
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OF+THIMNESLX (HIAMAHE)
18,000,000 * 157K 2 270,000
AT AERAE2ACAY 120,000 120,000 0
< 36,000
fia 84,000
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401 Al HIZ 201 I 428,571 0 428,571
= 300,000
< 64,500
s 64,071
01 A& HI 428,571 0 428,571
OZF=s0UHENS=EZE ALY 428,571
= 300,000
< 64,500
s 64,071
S22 1AL 5,404,286 545,000 4,859,286
= 3,748,000
s 1,656,286
SIS EHUIALS 50,000 545,000 A 495,000
401 AIEHI L 2 CHYI 50,000 545,000 A 495,000
01 A& HI 50,000 545,000 A 495,000
SHot=S U AL 50,000
St Ax ¥ 22 (SAEUS) 5,137,143 0 5,137,143
= 3,596,000
[ia 1,541,143
401 AIEHI L 201 5,137,143 0 5,137,143
= 3,596,000
s 1,541,143
01 A& Bl 4,834,143 0 4,834,143
O&s X Fot=SZHSE22XY E=0ZA
e 4,834,143
= 3,386,000
s 1,448,143
02 Zteltl 300,000 0 300,000
SN TS ETHUSHR2IKY & 200 A
A 300,000
= 210,000
s 90,000
03 Al 2 THHI 3,000 0 3,000
OsstX ot ZFHISH22XSG =02 A
e 3,000
St=Zo Xl & Hel(AZH=ZH2HAHFHI) 217,143 0 217,143
= 152,000
[ia 65,143
401 AIEHI L 201 217,143 0 217,143
= 152,000
[ia 65,143
01 A& Hl 216,143 0 216,143
OHFHOI=Z H2EH B ALY 216,143
= 152,000
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ONHBRHBI =22 AHH B ALY 1,000
=2 & 2el 309,153 1,010, 166 A701,013
DEMEHMESSAE 22 (B NALR2lAS) 209,335 202,511 6,824
101 124 dl 79,000 72,188 6,812
04 JI2ZtHZ22XREES 79,000 72,188 6,812
OAd2ed o2 61,989
ooy 66,8003 x2H x2452 32,732
OFxdx=< 66,8003 x2H x652 8,684
OFg=22e=d 100,200& »2H 50 10,020
O=H3RES3 51,436,000 x4.5% 2,315
OHLEERE S 51,436,000& %3.12% 1,605
OkoYEdRYZ 1,605,000& *3.69% 60
OLEEE=RY3 51,436,000& x1.5% 772
OMTHEERES 51,436,000 *3.5% 1,801
g &= 2,000,000& x2H 4,000
ONH=Y 12 17,011
OLHMHESSAE WAHHY A2
118, 130 *»4H x6 L 63 17,011
201 L2l 130,335 130,323 12
01 At 22l 30,780 30,780 0
O el 29,880
OMNEES 7Y 100,000& = 12& 1,200
OEEA+2 110,000& 12 1,320
O&Jetdae|f =2 260,000 x12& 3,120
OLYANE ESSHELEZ =2
1,000, 000& *13] 1,000
Oosgogtdzetid#d === 110,000& =122 1,320
OsdI8IIEAN=T 120,000& 12& 1,440
Odet g2y st 80,0003 +6CH*13] 480
Ost&Ea 488 7¢ 100,000& =122 1,200
O 50,000& x12& 600
OFAN E2EF #2 100,000& =12 1,200
OCE&E3 M&E & 2 10,000, 000& 13| 10,000
OE +¢ 4,000,000& *13] 4,000
o7 Xz 2 600,000& x13] 600
OHE ME ¢ 1,000, 000& *23| 2,000
Oz 3457 Y 200,000& *23| 400
o1 =l 900
oxgs 100, 000& *3H «23| 600
O& g3t 100,000 3 x 13| 300
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2N Aol AIE A
Ny ZRolAT B2
©el: GeERY o 22 CERED
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
| | | OAIAI2E2 G Al AE(RTC) S Xl 22 28,655
HAE2H A 93,750 87,851 5,899
JlE2dY (ASIEZ AL A) 93,750 87,851 5,899
HAEFXAHH| 3,600 3,000 600
203 R F & 3,600 3,000 600
04 EASHEIRFAH| 3,600 3,000 600
OBN2II 2= 300,000 x12& 3,600
et A Y| 46,950 48,851 A 1,901
201 2Et24Ay| 46,950 48,851 A 1,901
01 AP 2t 2] H| 41,310 40,367 943
OgBtL=2H| 11,893
OBNM2dg9lI242| 5,825,000& 5,825
O=AIEH(EH )Y 300,000 *13| x2CH 600
QU0 MZEZIHI EHEH(EY)RY
120,000& 23| »3CH 720
OdUOIMZREHD ZAEH(EH)PY
400,000 =13 =104 400
oMrgolIEsE>z¢ 1,300 «300Hx12& 468
OgASERRH L MEH
200,000& x23| 400
O=ANSAFE 20,000 x308F A %33 1,800
O] 140,000 = 12& 1,680
o2ds¢ 25,270
O A 60,0002 x1H x117L 7,020
O=2d| 50,000& 1 *365& 18,250
O3l 4,147
OBNMA2sdgl|s222| 4.147
02 Z2=2=24%94| 5,640 8,484 N2,844
OZ22Z22=2L Al 5,640
Q&= AIEE 400,000 x12& 4,800
OoHYYER= 70,000& *123] 840
o4 i 43,200 36,000 7,200
202 044l 43,200 36,000 7,200
01 2L Y| 43,200 36,000 7,200
OJI2g =l 200,000 x18H x12& 43,200
WSS (Mot A A) 12,245,524 4,497,253 7,748,271
= 151,000
= 12,094,524
WEHH KNS (Adtx=T AL A) 11,420,524 2,036,253 9,384,271
MALECZI)|IPEEH HE2 3,599,525 2,000,000 1,599,525
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SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
701 JIEISI HSHEZ 3,599,525 2,000,000 1,599,525
03 BIIYELEIHAN=2ANES 3,599,525 0 3,599,525

OZJIIYSESH &3 (AgHIE) 1,000,000
OZAMLET ALY 1,000,000
OZ2JILELESH FES(NE2HSE) 2,599,525
OEAMLET ANESHAS 2,599,525

AP ELHIHEIEEZS 38,897 36,253 2,644
701 JIEIZ HEEHEZ2 38,897 36,253 2,644
01 JIEtSI HE &= 38,897 36,253 2,644

OFZIMNNHNELEIAHEES 38,897
O4HotitsSot=E29H| 9,668
OsgitsstE=E=2d9H| 5,493
OM20ISotE=E29H| 4,586
OLs0tSstE=E 29| 8,271
Og4ditsSot=E29]| 4,547
O9uotsst=E=29H| 6,332

ot ZBIIEEYIHEES 7,782,102 0 7,782,102
701 JIEISI HSEES2 7,782,102 0 7,782,102
03 2I)|IHYELEIHIN=EAIEZ 7,782,102 0 7,782,102

OZ2JILELIHEES(AIEHIE) 3,431,602
Odlx=ZAIE2Y & 22| 3,431,602

OZBJIILELEIHEEZ2(NEEXSE) 4,350,500
OANENAIE L XHAHFE S 4,350,500

BEXS (AT AL A) 825,000 2,461,000 A 1,636,000
2 151,000
= 674,000

ol=E9o AX 2 22 (SE SNHHACI24E 151,000 229,000 A 78,000
= 151,000

311 X 20| XHak&t 1,800 3,800 A 2,000
= 1,800

05 JIEFXH 2 0] XF A&t 1,800 3,800 A 2,000

ODNHGE XM HE AT HeAELEIAY SA2

O XH&k &t 1,800
= 1,800

601 X 2| S atst 149,200 225,200 A 76,000
= 149,200

05 JIEIZ XL 2S4S 149,200 225,200 A 76,000

ONHGIE XM HE A HeAEEXAY SA2
22 aE 149,200

= 149,200
=2 SCHEX3EEZ2 674,000 2,232,000 A 1,558,000
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